Complete the calculation.
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Write the multiplication calculation represented and find the

answer.

Thousands

Hundreds

Tens
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Ones
000000
Q00000

Remember if there are ten or more counters in a column, you
need to make an exchange.

Annie earns £1,325 per week.

How much would he earn in 4 weeks? :
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245 X 7= Challenge
Can you work out the missing numbers
using the clues?
652 X 9=
X 5
1,206 x 4=
The 4 digits being multiplied by 5 are
[ bers.
2 345 X 6: i’ﬁgsf?rcsftggi;ﬁ:‘ofetr:e product are
’

the same.
The fourth and fifth digits of the
answer add to make the third.




